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Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

. ALLOTMENT OF MARKS

PART—A / Rei—=

Q. No. 1{a—~f) carries 1 mark each : 1x6= 6
Q. No. 2( a—f ) carries 2 marks each : 2x6 =12
Q. Nos. 3-7 carry 4 marks each : 4x5 =20
Q. Nos. 8 & 9 carry 6 marks each : 6x2 =12
Total = 50
PART—B / Re1—y

Q. No. 10( a—f ) carries 1 mark each : 1x6.= 6
Q. No. 11( a—f ) carries 2 marks each : 2x6 =12
Q. Nos. 12-16 carry 4 marks each : 4x5 = 20
Q. Nos. 17 & 18 carry 6 marks each : 6%x2 =12
Total = 50

Total (PART—A & PART—B) : 50+50=100
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PART—A
Retr—s

( Introductory Microeconomics )

1. Answer the following as directed : 1x6=6
w7 e fAci PR ey fian

(a) Define the term ‘scarcity’.

TR’ vige i |
(b) Opportunity cost is also known as cost.
(Fill in the blank)
I IS I Jfore & T |

(19 31 =7 1)
(c) What is budget line?
qTED ({2

(d) Define variable cost.

ﬂﬁa@%wm@rﬁmu»

(e) TC = + TFC. -

(Fill in the blank)
(130 31 =7 F41)

() Why is the AC curve ‘U’ shaped?

AC o 7 ‘U’ wipfes =0
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2. Answer the following questions :

©AY LPPTRY T fra

2x6=12

() Distinguish between microeconomics and macro-
economics.

aﬁ?ﬁﬁEW¥vmﬁwﬁha¢%wmaﬂwm?mﬁﬂﬁ#mu
Or / 91

- What are the central problems of an economy?

LS 97T FT TP R 2

(b) Write two determinants of individual demand.

T v e 71 Sommm fora |

Or / 541

What is inferior good? Give one example.

1+1=2
38 w31 R 2 b1 Srrger e

(c) Define the following :
oS AT Sicea iy

(i) Total product
pAG

(i) Marginal product
AR Tesiwm

1+1=2

Or/ 911
Briefly explain the concepts of short run and long run.

1+1=2
FTI ST MEPR—aX =N B SR 00 0 |
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(d) Distinguish between fixed cost and variable cost. 2
&3 9 i oReSTe IR W <1 fora |

Or / %<1

Draw a long-run marginal cost curve and long-run average
cost curve. 1+1=2

N AT I @ T LA S I/ (T SR 39 |

(e) What is the relationship between AR and MR? 2
ST S S AT SR e =0 52

Or / 931

Prove that for a firm, price = average revenue.

o 391 R @Al @39 AT A, W =5 9 |

() Write two factors that affect the market supply of a
commodity. , 2

T GO IS TS 2SR (PIeal o1 e fora |
Or / 93!

If the percentage change in quantity supplied is 10 and
percentage change in price is 4, calculate price elasticity of
supply.

T AT QBRI 2RI 4 TR W (TR ARTET 10 1o
=0, QAR N el e )
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3. Explain the law of diminishing marginal utility with the
help of schedule and diagram. 4
el S e SREe Fagrmm aifes Seicafer Rigd arm w1

Or / Sl ‘

Define price elasticity of demand. Mention any three
factors influencing price elasticity of demand of a

commodity. 1+3=4
TtV v RSRreer il | T @R iRvR W RfYwemes
aoifie 31 | @ NG Some Seary 7911 1

4. What is meant by returns to a factor? State the three
phases of the law of variable proportions. 1+3=4
Tome B 2fee g R @2 ResNe e Ride v R
Ty 40

Or / 931 .
From the data given below, calculate (@) marginal cost and
(b) average cost : 2+2=4
oS il SR *[1 (o) ANRF I W% (b) T IR S A :
Output 112|3|4|5(6]|7]|8]
kel ~
Total cost (¥) |10|20(28(34|38|42|48|56
¥ 7 (51)
5. Mention four features of perfect competition. 4
off AfSCATATORETF IeRT SR CAMBy Teary <1 |
Or / 9%y

Distinguish between monopoly market and monopolistic
market.

GFCEHT ITE T GRS AfSerET IWTT o[ A1 fBor |
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6. Distinguish between price ceiling and price floor. 4
e S i e Ay SR e onw o o

Or / 941

Mention the effects of the following on the supply of a
commodity : 2+2=4

(a) Fall in the price of factors

(b) Rise in the per unit tax

<1 TR IAY 89S ©eTs BCary FIPTRA o SCad 1
(@) TAHPRRS IR 2P

(b) &f® 93 TIre 9 %

7. How does imposition of per unit tax affect supply curve of
a firm? ' 4

GFF I I AfBT QNN @I @ ooiR® 3¢9 2
Or / 9231

The demand and supply functions of a firm under
perfectly competitive market are given below :

D=5-2p
S=-25+3P

Where, P=Price, D =Quantity Demanded and
S = Quantity Supplied.

Find the equilibrium price and quantity. .2+2=4
ol 2fecaionE T VW e TIRW W IS TR wae T
41 :

D=5-2P
S=-25+3P

'S, P =T, D = AN SIfEe S S = INIF 90 |
SRPI WIN S AR e 4 )
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8. What is consumer equilibrium? Explain the conditions of
consumer equilibrium with the help of schedule and
diagram. 1+5=6
TorereH STl 2 bl WIH (FaS TCSeR SISl (FTE A
=, Spp! ST e SRR I 4 |

Or / g%«
Discuss how the market demand curve is derived from
individual demand curves. 6

Wﬁrmﬁmmwmwmquwonﬁ
AL 40 |

9. “Under perfect competition, industry is price maker and
firm is the price taker.” Explain. 6

“ﬁmﬂwwwﬂmwﬁmw@wwmw
AR 1 T T

Or / gy

With the help of a suitable diagram, explain the process of
determination of equilibrium price of commodity under
perfectly competitive market.

Ty foaa 1awe <f ArenEe Tome w31 <Br SR T R
A SFRICO! AT 90 |

PART—B
Ret—y

( Statistics for Economics )

10. Answer the following as directed : 1x6=6
oo TRt Ao PR Ses fin

(a) Who is known as the father of statistics?
@e Jes ARy Rems e Rore s w2
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(bp) What do you mean by wholesale price index?
ol W SRS o & 3o ?

(c) Write one merit of direct personal investigation.

ofoTF TS SPGB R o )

(d) Which of the following is a measure of central
tendency?

S IICH1 TR (P e et gRA AR 2
(i) Arithmetic mean
QIBICEIUI
(i) Median
piin)
(i) Mode
IR

(iv) All of the above
@AY FAFCERE

(Choose the correct option)

(R e aif Sfevean)

(e) is the difference between the largest value and
the smallest value.

(Fill in the blank)

o R IS Toew oI e wEReeR (A |
(AT 31 *7 1)

() What is Lorenz curve?

ARG @ 2

/126



(9)
11. Answer the following questions : 2x6=12
o 2PN ©eS foant

(a} Define the term ‘statistics’ in plural and singular
sense. o

oG F G5 TS “ARPRrY T |
Or / 9«1
Write two importances of statistics in economics.
wfReere ARFRYE 1B SFY o |
) Write two characteristics of statistics.
AR o1 CAME oI |
Or / 9=

Mention any two limitations of statistics.

AU R @I o1 ARze! Sead 41 |

(c) Calculate range and coefficient of range from the

following data :
wod SRR °F1 &P SNF 27T BT 9191 F41 ¢

8, 12, 18, 22, 13, 20
Or / 91

2

Write two demerits of range.
opTTea o1 SPIRY fermn

(d) Mention two merits of median.

T 1 R4 o o !
Or / 931

write the formula of calculating median in continuous
frequency distribution.

SRR I ROTEFR CFa® FY1 19 ! fors |
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(e) State two demerits of standard deviation. 2

T oo 751 SPRY Sead 9 |

Or / 9«1
Mention four alternative methods for calculation of
standard deviation in discrete series.
Rty IvARl ReEme (vae TWF oo somE [ ==l vk
TR 91

() What is scatter diagram? Write one merit of scatter
diagram.

1+1=2
Rite 57 oS & 7 T o1 7Ry o
Or / &%[l
What is arithmetic line graph? Mention one of its uses.
1+1=2
e (ART (1Y 1% 7 TR b1 9T TCE 90|
12. Write four main parts of a good table. 4
wef e G5 BIRGT 2 e o o
Or / 311
Define sampling errors. Mention its main types. 1+3=4

T AW o AT A | W Y AR o

13. What is diagrammatic presentation? How is it useful in
economic analysis?

B3 Termem B 2 SftAfoe Resere TR Sl (eaggem 2

1+3=4
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Or / T11

Draw a histogram and polygon from the following table :
2+2=4
Toq OIS o1 TN WF X9 I I

Marks obtained |10-20(20-30|30-40|40-50|50-60{60-70
A g9
No. of students | 10 12 16 20 18 9
RIG-RIGT SR

14. Define arithmetic mean. Discuss its properties. 1+3=4
sfAfeS srex et fan | TR CaPBpTR Sces 4 |
Or / 911

Calculate quartile deviation from the following table : 4
TGO OIfFPINR *[1 59T Rera I st 91

X 1 2 3 4 S 6 7
Y [ 30 |1 38|50 )|22[40]| 25| 60

15. What is dispersion? Discuss the characteristics of a good
measure of dispersion. 1+3=4

Rrseet e R 2 = Resperet Torg IRBR Semse 4 |

Or / 9«1
Distinguish between absolute and relative measure of
dispersion. 4
RTFAR W T A AP TR e =19 o |

16. What are essentials of a good measure of central
tendency? 4

Sl (PR 2T Mo A erTE R 1% 2
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17.

18.

(12

Or / 91
Define correlation. Discuss its main types. 1+3=4

TR T 1 | T A9 AP WA I |

What do you mean by primary data? Explain the different
methods of collecting primary data. 1+5=6

ARF B A P R gE 2 21l o2y ey Rivw orafeomz, e
91
Or / 9«1
Define classification. Describe briefly its main objectives.
1+5=6
CPeTa i A | R T SR S I 0|

Explain the meaning and importance of index numbers.
2+4=6
T YR oY SF SFGT [T 1401 741 |
Or / 91
Calculate the mean, median and mode from the following
frequency distribution : 2+2+2=6

wTs i el Rerema 1 e o, T W Toor Ry g -

Class

interval |20-25(25-30|30-35|35-40[|40-45 45-50|50-55 55-60
IR o
Frequency | 7 9 11 | 28 | 30 | 22 7 5 |
9

\
* ok k
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